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1. HEARHIE:
O HBREA:
FREXZ) 0.1g HZ Koy 78 R MIREARTTEL 0.5g), I\ ImL 2B, HEAT VKB
4°Cx12000rpm 250> 10min, H E3%, Byk BRI,
() BmiEAR, MRBAAKE (o) RBEVREIRML)A 1: 5~10 ML HIHTIRE.
@ Y/ RS
el A B 0 A, BSOS B BN 500 T 4HEE BN TmL
PR, AR B AR (UK, ThER 200W, R 3s, [ERE 10s, EE 30 K0
12000rpm 4°CE5.C» 10min, H_EiE, Bk BRI,
() E¥miERE, TRBEE/MIEHE (109: 2EGR (mL) A 500~1000: 1 BYELHIZHITIREN.
@ WAFEA: BN VM, B0 EEC RIS,
2. BN
@ AL RE T 30 min, PETIIEKE] 412 nm, ZEEKIEZE.
@ A RFT 37°CAKB I E 20min L E. 7 ImL BRI AR NN -

WAL HFR (LD M 7E 5

FEA 60

A — 640

A = 40

WA= 40
WB2), 37°CEAF T =, 30s BT 412nm &bk
UK EAH AL, Smin30s B2HL A2, AA=A2-Al.




Y Lnse sl = MBS SE 75 ALEKRT 1 3AA KT 1, A REARE Vi (el 60ul
JRZE 20uL, DU —AE RGN, B RS TE] T (W1 Smin30s %% 2min30s £
A2), MR V1M T EHRAANRITE.
2EAAKT 0.01, FIIGINFEARRUREE W (11 0.2g), BUIMAREAAF VI (Wi 60pL 3
2 120uL, ARG —H R D ), SREEK B T (A1 Smin30s 34 15min30s &%
BRI A2), WEA)EK WA VLA T EHAAART5H.
fi. BRITE:
1. M EIRE T
Mg g e 3 M E AR E L= Inmol TNB [WEFE Y 1 B A7
AChE 7% (nmol/min/mg prot)=(AA+&+dxV2x10%)+(CprxV1)+=T=191.2xAA+Cpr
2. HRBEREA T
Mg e S R VR B AL 2E 1Tnmol TNB [WEFE Y 1 MBI AT
AChE 7% (nmol/min/g 5 )=(AA +e+dxV2x109)+(WxV1+V)=T=191.2xAA~W
3.4HTE . 4HJf] AchE V5%
Wi iE E e B 104 AN HM AR 73 B AL 7 Inmol TNB HIBEE N 1 NG 547
AChE 7% (nmol/min/10* cell)=(AA+&+dxV2x10%)+(500xV1+V)=T=0.38xAA
4. R AchE V&
Mg s e S RS I R B AL =28 1nmol TNB [WEF= Y 1 B A7
AChE 7% (nmol/min /mL)=(AA+e+dxV2x10°)+V1+T=191.2xAA

e--TNB EE/RVH R, 13.6x10° L/mol/cm; d---%1%E, lem;

V---$RBUR AR, 1 mL; V1---IIN EiFH AR, 0.06 mL;
V2 NAR R ARFR, 780pL=7.8x10L; T--- ] NI [E],  Smin;

W--- AR &, g 500---ZH B B A B R, 9

Cpr—ZB EIKIE (mg/mL)s BT A 71 BCA B 4 Rl £



